%ok L—ABh-JREVI5 -5l IFER MiR—& * %
(SE5HIRBOBELE. Ik, FAEIL, RE, FILEBEBR)

* 3 b—A —i%E% HEFE(21:15)
ROBIA MR . mE EENK 1% 28 38 @B TN YOT—  mE EEM 1B 28 3@ ¥
H. il A% D@ ©® X HE HE B BE| so—pr EH D2 6 £ RNE NE HIE
fRiX 19 4 5 3 21.0 473 63.1 0 3.21) ¥HEY—H 24 6 5 4 25.0 45.8 62.5 3.12
3604 B-115 | B2 6 2 2 0 33.3 66.6 66.6 0 3.16| HEY GE - = = e
1 Ry 2 NI 4 1 0 1 250 25.0 50.0 0 3.25| =@v —m 1 1 o 0.0 100.0 100.0 2.00
BRIR36EE 2555 BEE - Ll EEY GE 1 1 0 25.0 50.0 50.0 4.00
AR
BRI 61 4 7 7 6.5 18.0 295 0 4.78| HEHEY—# 23 o 5 3 0.0 21.7 34.7 4.34
2424 B-4 B 4 o0 0 1 0.0 0.0 25.0 0 5.75| HEY GH#¥
2 ZEMH H=F JIE e e ol BLEY—ME 41 4 2 5 9.7 14.6 26.8 5.12
BREF24H8 51R% | RBME - - o L Z@YGE® 1 0 0 0 0.0 0.0 0.0 5.00
SEA
fRIX 102 13 15 8 12.7 27.4 352 1 445 HEY—MK 64 10 9 6 15.6 29.6 39.0 4.20
3506 A-168 | Ufg 14 3 0 2 21.4 21.4 357 0 471 H&E¥G% 2 0 0 0 00 0.0 0.0 550
3| st i) JI0 3 1 1 1 33.3 66.6100.0 0 2.00) #@v —fE 48 6 7 4 12.5 27.0 35.4 4.81
BRIZ3SHA 264% | (REME 6 1 0 1 16.6 16.6 33.3 0 550/ ZH@YGE 11 2 0 2 18.1 18.1 36.3 4.40
SFA
fRi¥ 104 11 17 17 10.5 26.9 43.2 1 4.19| HEY —H 71 11 13 11 15.4 33.8 49.2 3.64
2929 A-172 | LB 10 2 1 0 20.0 30.0 30.0 0 4.50[ HEY G¥ 11 2 3 1 18.1 454 54.5 4.18
4 Bl =R neE- 8 2 2 1 25,0 50.0 625 O 3.62|| =EBY —H% 45 2 4 6 4.4 13.3 26.6 5.08
BRIF2OHA 43%% {FEM&E 6 o0 0 0 00 0.0 00 O 550 H&EYGEK 3 0 0 1 00 0.0 33.3 5.66
Sffy 2 0 0 1 0.0 0.0 50.0 0 4.00
fRiX 92 26 23 10 28.2 53.2 64.1 2 3.06( ¥=v—hH% 61 17 14 9 27.8 50.8 65.5 3.06
2031 A-122 | 1UBg 8 o0 1 2 0.0 125 375 0 4.62| HEVGHE 12 1 3 1 83 333 41.6 491
5 W#=EZ=Z )0 4 o 0 o0 00 00 00 O 750 EY—# 40 11 6 7 27.5 42.5 60.0 3.15
BRIF2OHA 40M% | fFEME 19 3 0 5 157 15.7 42,1 0 433 ZH&BEYGE 13 0 2 1 0.0 153 23.0 5.38
SE#Y 3 0 1 1 0.0 33.3 66.6 0 4.00
fRixX 77 14 15 14 18.1 37.6 55.8 1 3.47| HEY—H 48 8 9 11 16.6 35.4 58.3 3.44
3404 A-94 1B 0 2 1 00 222 333 0 b5.66| H&EYGHK 17 0 2 1 0.0 11.7 17.6 576
6 JIIA &8 o 0 1 0 00 11.1 11.1 0 588 LEY—M 25 8 6 2 32.0 56.0 64.0 2.66
BRIR34H8 314 | {25 18 3 0 1 16.6 16.6 222 1 500 ZHEYGE 29 1 2 4 34 10.3 24.1 544
SE#Y 6 0 1 2 0.0 16.6 50.0 0 4.16
BRI HEY —R
L JHEY GHEk
7 M= BT —E
(R EiEY GHk
AR
AR HEY —ig
L HEY Gk
8 1= TZEY —HE
R BT G
=N

KEHBEIRTELL—ARFZRVTHELTWET




Yo L= - WEYIS 5 MERE RR—E %%
(SEEHILIBOBELLE, Pk, FHIL, RE, BUBEHR
% 3 L—2Z —iRH RETFE(21:15)

jp  HE O EEE 1E 28 3E BB T NI7—  HE EEH  1F 2 3E FY
EHE © @0 x XX HE EH BE HyL—p BH O OO XER xR X EE

fRiXx 6 4 1 0 66.6 83.3 83.3 0 1.66)| y=v—h# 6 3 1 0 50.0 66.6 66.6 2.16

3604 B-115 u_”}% 1 0 0 0 0.0 0.0 0.0 0 4.00 5‘#%’57 G%

L R R ] L - #wEY—# 1 1 0 0100.0 100.0 100.0 1.00

BRIR36HA 254% | ABEMIE . o o o L BEY GHEE s
MEZ7N

Bk 9 2 1 3222 333666 0 311 H=v—# 3 0 o 2 0.0 0.0 66.6 3.33

2424 B-4 mpg 2 1 o 0 50.0 50.0 50.0 O 3.50] HEYGE - oo

2 B E ] JIED o o e e | m@EY—#% 7 3 1 o0 42.8 57.1 57.1 3.14

BRIR248A S514% | (BERMUS  -- L EEY GEk 1 0 0 1 0.0 0.0 100.0 3.00
MEZYN

ffi% 27 5 4 3 18.5 33.3 444 0 4.07| =v—pe 18 2 3 3 11.1 27.7 44.4 4.11

3506 A-168 | LU 1 0 1 0 0.0100.0100.0 O 2.00]| HEYG¥K 3 1 0 0 333 33.3 33.3 5.00

BRIR3SHA 26K% | fRZIE 1 0 1 0 0.0 100.0 100.0 0 2.00| EBEYGH&% 2 0 0 0 00 0.0 0.0 5.00

AR
gl 23 o 1 1 00 43 86 0 530|HmzY—M 17 o 1 1 0.0 5.8 11.7 5.29
2929 A-172 e 3 c o o 00 00 00 O 7.33|| HEY GH#k 0 0 0 0.0 0.0 0.0 8.00

3
N RN =R M 1 o o o 00 00 00 O 800 t58v—H 6 0 0o 0o 0.0 0.0 0.0 583
2

ERIF29HA 43h% | [BEEME .- - - L BBV GHE 0 0 0 0.0 0.0 0.0 5.00
JE#®A 1 0 0o 0o 00 00 00 0 7.00
SR 26 3 3 5 11.5 23.0 423 1 4.07| H¥EY—# 16 2 2 3 12.5 25.0 43.7 3.93
2031 A-122 | WBF 7 o0 o0 1 0.0 00 142 0 6.28] HEYGH 7 1 0 1 142 142 285 5.14
O Hm =% IO 2 1 o0 0 50.0 50.0 50.0 O 3.50| w@v —# 8 1 0 2 12.5 12.5 37.5 4.62
BRIF20H9 40%% | (EEME 1 0 0 0 0.0 0.0 0.0 0 6.00| HEIGH 5 1 0 0.0 20.0 20.0 5.40
NEZIN
fRIX 16 ©0 4 6 0.0 25.0 625 0 3.87| ¥HEY—# 8 o 4 2 0.0 50.0 75.0 3.12
3404 A-94 g - . SBEY Gk 4 0 0 1 0.0 0.0 250 5.75
S )OA 88 nme 2 0o 0o o 00 00 00 O 6.00f #EEY —H% 4 0 o 3 0.0 0.0 75.0 3.50
SRIF3483 315 fR2M& 1 o 0 o 0.0 0.0 0.0 O 700 FEYGH 5 0 0 0 0.0 00 0.0 680

B 2 0 0 0 00 00 00 O 7.50

AR HEY —i%
LL|pe JHEY GE
7 nmo BT —f%
RERE @Y G
SEAR
ARz HEY —%
112 JHEY GH#g
8 e EEN —fi
RELE EiEY G

SEAR
XEHEFIRTERL—RAE#HERVTEHHELTWET




Yk L—AI5H-HREVIS B BHER BRE—E w %

(EETE2BZOBELE, PIE, RAIZ, RE, (FLEREFFRC)

¥ 3 b—R —fiik HEFE(21:15)
B EFA AR, g HE REN VB 28 3@ @B | Y75 mE EEM U 28 3E ¥y
M. i A% D@ ® £ HE HE B FE| so—pr EH D2 6 £ HNE NE HIE
fRix 2 o0 o o 00 00 00 O 500(i¥=EY—4 1 o o o 0.0 0.0 0.0 6.00
3604 B-115 LLipE SHEY GEE .
1 RE 2 g =@EY—# 1 0 0o o 0.0 00 0.0 4.00
BRIR3GHER 258% | (REAS sET Gl I
MEZ7N
ARz 0 1 1 0.0 16.6 33.3 500 s4=v—#% 3 o o o 0.0 0.0 0.0 6.33
2424 B-4 g 2 o0 0o 0 0.0 0.0 0.0 0 6.50| HEY GE¥
2 ZEH F=F g =EY—# 5 0 1 1 0.0 20.0 40.0 4.80
ERIK2488 51k% | (RS EEY GEL
MEZIN
Rk 9 o0 4 0 0.0 444 44.4 433 HETY—M 7 1 4 o0 14.2 71.4 71.4 2.85
3506 A-168 | L2 4 ©0 0 0o 0.0 0.0 0.0 4.75| HEY GEk
3| Ft i) JI0 1 1 0 0 100.0 100.0 100.0 1.00| =@ —# 5 o0 o o 00 0.0 0.0 5.80
BRIR3SHE 26%% | (REMB LFEIGE 2 0 0 0 0.0 0.0 0.0 5.00
MEZ7N
iR o o o 00 00 O0.0 587 &Y —# 3 o0 o o 0.0 0.0 0.0 6.66
2929 A-172 g 4 1 0 0 250 250 250 0 525 EHEYGEH 1 0 0 0 0.0 0.0 0.0 6.00
4| EEN =5 e =EY—# 8 1 o0 o0 12.5 12.5 12.5 5.25
BRIF29HA 437% | {REUSG EiEY Gk
MEZIN
fRx 7 o o 1 0.0 0.0 14.2 528 s4mmv—# 3 o o 1 0.0 0.0 33.3 5.00
2931 A-122 e o 0o 0 00 00 00 O 7.00fBEYGE 2 0 0 0 00 00 0.0 550
5 YN == N[ MBEY—% 2 0 0o o 00 00 0.0 550
BRIF2OHA 4085 | (RIS ZFEIGE 1 0 0 0 0.0 0.0 0.0 7.00
MEZ YN
ffi%F 5 o0 o 3 0.0 0.0 60.0 3.60 =Y —HE 3 0 o0 0.0 0.0 33.3 4.00
3404 A-94 LLiBs o o 1 0.0 0.0100.0 3.00| H&¥G#& 1 0 0 1 0.0 0.0100.0 3.00
6 )OO #&39 ][m) EY—fHE 1 0 o0 0.0 0.0 100.0 3.00
BRIR34HA 31%% | (RSN TEIGE 1 0 0 0.0 0.0 100.0 3.00
MEZIN
fRix HaY —i%
L JHEY G
i e @Y — %
REAIA EIEY G
MEZ 7N
Az HaY —i%
L JHEY G
8 JIa WY —AY
R BEY G

AR

KEHBEIRTELL—ARFZRVTHELTWET




